
 

gphpT m PART – A 

rhpahd tpiliaj; Njh;e;njLj;J vOJf        10X1 =10 

1. gpd;tUtdtw;wpy; vJ fzpzpkaf; fzf;fpay; Kiwapd; gad;ghL my;y? 

m)  fzf;NfLfisg; guhkhpj;jy; M)  fzf;fpay; mwpf;iffis tbtikj;jy;   

,)  rk;gsg;gl;bay; jahhpj;jy; <) thptpjpg;G 

From the following which one is not an application of computerized Accounting system? 

a) Maintaining accounting records  b) Designing the accounting reports  
c)  Pay roll preparation    d)  Taxation 

2. tof;fkhf> Gw mf nghWg;G tpfpjk; ……………. Mf ,Ue;jhy; jpUg;jpfukhdjhff; fUjg;gLfpwJ. 

m)  2:1 M)  1:1 ,) 1:2  <) vJTk; ,y;iy 

In general a debt equity ratio of …………….may be considered satisfactory. 

a) 2:1  b) 1:1  c)  1:2  d)  none 

   3. fPo;f;fz;ltw;Ws; vJ jtwhd $w;W ? 

 (Fwpg;G  ↑ mjpfhpj;jy;  ↓Fiwjy;) 

m)  nrhj;J ↑  nghWg;G   ↓  kWkjpg;gPL f/F – tuT 

M)  nrhj;J  ↓ nghWg;G   ↑  kWkjpg;gPL f/F – gw;W 

,)  nrhj;J   ↑    kWkjpg;gPL f/F – gw;W 

<)  nghWg;G ↓  kWkjpg;gPL f/F – tuT 

Which one is wrong from the followings :-  ( ↑  )  Increase  (↓)  Decrease 

a)  Asset ↑   Liability ↓ Revaluation A/c – Cr   

b)  Asset  ↓Liability ↑  Revaluation A/c – Dr  

c)  Asset ↑ Revaluation A/c – Dr d)  Liability ↓Revaluation A/c – Cr 

4. A, B,C vd;w $l;lhspfs;1/3:1/6: ½ vd;w tpfpjj;jpy; ,yhgk; kw;Wk; el;lq;fis gfph;e;J nfhs;s xg;Gf; 

nfhz;ldh;.  ,ij KO vz;zhf khw;wpdhy; ………….. ,yhg el;l tpfpjkhFk;. 

 m)  3:2:1 M)  1:2:3 ,)  3: 6: 2 <)  2:1:3 

A, B and C were partners in a firm sharing profit and losses in the ratio of 1/3:1/6: ½ respectively.  Convert 
the ratio into a whole number of each one:- 
a)  3:2:1 b)  1:2:3 c)  3:6:2 d) 2:1:3 

5. gl;bay;I   I gl;bay; II  cld; xg;gpLf 

 A)    ruhrhp ,yhgk; - 1. gad;gLj;jg;gl;l Kjy; X  rhjhuz ,yhg tpfpjk; 

B) rhjhuz ,yhgk;- 2. nkhj;j ,yhgk;  

                        Mz;Lfspd; vz;zpf;if 

C) $l;Lruhrhp ,yhgk; - 3.    ruhrhp ,yhgk;       X 100  
  rhjhuz ,yhg tpfpjk;  



D) tpahghuj;jpd; nkhj;j %yjd kjpg;G -  4. $l;L ruhrhp ,yhgq;fspd; nkhj;jk;  
epiwfspd; vz;zpf;if 

FwpaPL:   

A B C D 

m)  2 1 4 3   

M)                  1 2 3 4 

,)                  1 2 4 3  

<)                    2 1 3 4 

Match List I with List II and select the correct answer using the code given below the lists: 

A. Average profit  1.  Capital employed X Normal rate of return 

B. Normal profit  2.  
𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇  𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝  
𝑁𝑁𝑁𝑁.𝑜𝑜𝑜𝑜  𝑦𝑦𝑦𝑦𝑦𝑦𝑦𝑦𝑦𝑦

 

C. Weighted average profit 3.  
𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴   𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝  

𝑁𝑁𝑁𝑁𝑁𝑁𝑁𝑁𝑁𝑁𝑁𝑁  𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟  𝑜𝑜𝑜𝑜  𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟𝑟
 𝑋𝑋 100 

D. Capitalized value of Average profit      4. 
𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇  𝑜𝑜𝑜𝑜  𝑤𝑤𝑤𝑤𝑤𝑤𝑤𝑤 ℎ𝑡𝑡𝑡𝑡𝑡𝑡  𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝

𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇  𝑜𝑜𝑜𝑜  𝑤𝑤𝑤𝑤𝑤𝑤𝑤𝑤 ℎ𝑡𝑡𝑎𝑎𝑎𝑎𝑠𝑠
 

Code:-  A B C D 

a)   2 1 4 3  
b)                 1 2 3 4 
c)                  1 2 4 3 
d)                  2 1 3 4 

6. fPof;fz;ltw;Ws; vJ Kjypd; tuT my;y? 

 m)  capy; nfhil  M)  Fwpg;gpl;l ed;nfhil ,)  epiyitg;G kPjhd tl;b  <)  rpwg;G epjp 

Which one of the followings is NOT a capital receipts:- 
a)  Legacies b)  Specified donations  c)  Interest on Investment d) Special funds 

7. ,e;jpa epWkr; rl;lk; 2013 ml;ltizapd; F gb epWkr; nray;Kiw tpjpfspy; $wpAs;sthW miog;G Kd; 

gzj;jpw;F tl;bahf Mz;Lf;F ……. kpfhky; nrYj;jg;gl Ntz;Lk; 

 m) 5%  M) 6%  ,)  10 % <)  12%    

As per Table F of the Indian companies Act, 2013, interest may be paid on calls in advance not exceeding 
……………. Per annum. 
a)  5% b) 6%  c)  10% d)  12% 

8. xU epWtd chpikahshpd;  epyk;  Rs. 5,00,000  nghwpj; njhFjp-Rs. 2,00,000 kw;Wk; fldPe;Njhh; -  
Rs. 3,00,000 chpikahshpd; Kjy; vd;d>? 

 m)  &. 4,00,000 M) &. 7,00,000 ,). &. 10,00,000  <) &. 3,00,000 

Find the capital of the proprietor : Land- Rs. 5,00,000 , Plant- Rs. 2,00,000,     Creditors    
Rs. 3,00,000 
a)  4,00,000  b)  7,00,000  c) 10,00,000  d)  3,00,000 

9. epWkq;fspd; (,ju ) tpjpfs; 2014 ………….. d; gb $l;lhz;ik epWtdj;jpd; mjpfgl;r cWg;gpdh;fspd; 

vz;zpf;if 50 MFk;? 

 m)  gphpT 464 (1) M)  tpjp 10 ,)  ,e;jpa $l;lhz;ik rl;lk; 1932 <)  ,e;jpa epWkr; rl;lk; 1956 

 



……………… of companies (miscellaneous) Rules 2014 specifies the maximum number of partners in a 
partnership firm is 50. 
a)  Section 464 (1) b)  Rule 10  c)  Partnership Act 1932.  D)  Indian companies Act, 2013. 

 

10. elg;G nghWg;Gfs; elg;Gr; nrhj;Jf;fs; vd;gJ ----------- xU FOthFk;  

 m)  gadhspfs; cUthf;fg;gl;l FOf;fs; M)  Kd;Ng cUthf;fg;gl;l FOf;fs; ,)  Kjd;ik 

FOf;fs; <)  Jizf; FOf;fs; 

Current Assets, Current Liabilities comes under ________   
a) User defined groups b)  Pre – defined groups  c)  Primary groups d)  Sub groups 

gphpT M PART – B 

VNjDk; 5 tpdhf;fSf;F kl;Lk; tpilasp 17 tpdh fl;lha tpdh     5X2 =10 

Write any 5 questions and Q.No 17 is compulsory        

11. epiwNtw;whsh; vd;gth; ahh;? 

Who is an executor? 

12. gpd;tUk; tptuq;fspypUe;J nkhj;jf; fldPe;Njhh; fzf;F jahhpf;f  

tptuk; njhif 

njhlf;ff; fldPe;Njhh; 170000 

nfhs;Kjy; jpUg;gk; 20000 

fldPe;NjhUf;Fr; nrYj;jpaJ 450000 

fld; nfhs;Kjy; 490000 

nuhf;ff; nfhs;Kjy; 10000 

From the following information, Prepare a Total Creditors account 

Particulars Rs. 
Opening creditors 170000 
Purchase returns  20000 
Paid to creditors 450000 
Credit Purchases 490000 
Cash Purchases   10000 

 

13. gpd;tUk; tptuq;fspypUe;J Nkhp tiuaW epWkj;jpd; xg;gPl;L mwpf;ifiaj; jahh; nra;aTk;. 

tptuk; 2018-2019 2019-2020 
tpw;gid %yk; ngw;w tUtha; 4,00,000 5,00,000 
,af;f nryTfs; 2,00,000 1,80,000 
From the following particulars prepare comparative statement of Mary Ltd., 

Particulars 2018-2019 2019-2020 
Revenue from operations 4,00,000 5,00,000 
Operating expenses 2,00,000 1,80,000 

14. ngWjw;Fhpa khw;Wr;rPl;bd; gbtk; jUf. 

Give the format of Bills Receivable  

15. xU fiy gz;ghl;L ikaj;jpd; gpd;tUk; tptuq;fisf; nfhz;L 2018-2019 k; Mz;bw;fhd re;jh %yk; ngw;w 

tUthiaf; fzf;fplTk;. 

 1) 2018 – 2019k; Mz;by; ngw;w re;jh &. 57>360 

2) ngw Ntz;ba re;jh  2017-2018      Rs. 4,800,   2018-2019    Rs. 6,000 

 3)  Kd; $l;bg; ngw;w re;jh  2017-2018      Rs. 3,600,   2018-2019    Rs. 2,160     



 ,J tUtha; nrytpdf; fzf;fpy; vt;thW Njhd;Wk; vdf; fhl;Lf. 

A Fine arts club received subscriptions Rs. 57,360 during 2018-2019 (As per Receipts and Payments 
Account) 
i) Subscription outstanding :-  2017-2018 Rs. 4,800,   2018-2019  Rs. 6,000 
ii) Subscription on received in advance :- 2017-2018 Rs. 3,600, 2018-2019  Rs. 2,160    
iii) How it will be shown in the income and Expenditure Account? 

16. tpw;w nghUspd; mlf;ftpiyia fzf;fpLk; ,uz;L Kiwfis Fwpg;gpLf. 

Mention the two methods to find out the cost of goods sold. 

17. xU epWtdj;jpd; epjpepiy mwpf;if gpd;tUk; jftiyf; nfhz;Ls;sJ  

xU gq;fpd; Kf kjpg;G &gha; 10. epWkj;jpd; mq;fPfupf;fg;gl;l Kjy; &gha; 500000> ntspaplg;gl;l Kjy; 

&gha; 350000>xg;gpa Kjy; &gha; 300000> nrYj;jg;gl;l Kjy; &gha; 200000>; ntspapl;l gq;Ffspd; 

vz;zpf;ifiaf; fz;Lgpb. 

A company’s annual report contains the following data. 

The face value of share is Rs.10. The company’s registered Capital is Rs. 500000, Issued capital is Rs. 
350000, Subscribed capital is Rs. 300000 and it’s paid up capital is Rs. 200000. Find out the number of 
shares the company had issued? 

gFjp - , PART – C 

VNjDk; 5 tpdhf;fSf;F kl;Lk; tpilasp 24 tpdh fl;lah tpdh      5X3 =15 

Write any 5 questions and Q.No 24 is compulsory 

18. nghJ msT mwpf;iffs; jahhpf;fg; gpd;gw;wg;gLk; gbepiyfisj; jUf. 

What are the steps to be followed in preparation of common – size statement? 

19. fPh;j;jpfh epWkj;jpd; 2019 khh;r; 31k; ehisa ,Ug;Gepiyf; Fwpg;G 

 nghWg;Gfs;  nrhj;Jf;fs; 
gq;F Kjy; 1,50,000 ,ae;jpuk; 50,000 
FWfpaf; fhy fld; 17,000 ruf;fpUg;G 45,000 
fzf;F %yk; nrYj;j 
Ntz;baitfs; 

25,000 fzf;F %yk; ngw 
Ntz;baitfs; nuhf;fk; 

70,000 

nfhLgbNtz;ba nryTfs; 3,000 nuhf;fk; 30,000 
FWfpa xJf;Ffs; 5,000 Kd;$l;br; nrYj;jpa 

nryTfs 
5,000 

 2,00,000  2,00,000 
 1)  elg;G tpfpjk; kw;Wk;   2)  tpiuT tpfpjk; fzf;fplTk; 

Balance sheet of Keerthi Ltd., as on 31 March 2019 
Liabilities Assets 

Capital 1,50,000 Machinery 50,000 
Short term Borrowings 17,000 Inventories 45,000 
Trade payables 25,000 Trade receivables 70,000 
O/S Expenses 3,000 Cash 30,000 
Short term provisions 5,000 Prepaid expenses 5,000 
Calculate :- 1)  Current ratio  2)  Quick ratio 

20. [hd; epWkk; gq;nfhd;W &.10 tPjk; gq;Ffis 10% Kidkj;jpy; ntspapl;lJ.  njhifahdJ tpz;zg;gj;jpd; 

NghJ &.2> xJf;fPl;bd; NghJ &. 3 (Kidkk; cl;gl)  Kjy; miog;gpd; NghJ &.3 kw;Wk; ,uz;lhk; kw;Wk; 

,Wjp miog;gpd; NghJ &.3 vdr; nrYj;jg;gl Ntz;Lk;.  gpd;tUk; jUzq;fspy; gq;Ffis xWg;gpog;G 

nra;tjw;Fj; Njitahd Fwpg;Ngl;Lg; gjpTfis juTk;. 50 gq;Ffis itj;jpUf;Fk; utp vd;gth; xJf;fPl;Lj; 

njhif> Kjy; miog;G> ,uz;lhk; kw;Wk; ,Wjp miog;Gj; njhif nrYj;Jj; jtwpajhy; mtUila gq;Ffs; 

xWg;gpog;G nra;ag;gl;ld. 

 



John Ltd., Company issued shares of Rs.10 each at 10% premium, payable Rs. 2 on application, Rs. 3 on 
allotment (including premium) Rs. 3 on first call and Rs.3 on second call and final call.  Ravi who holds 50 
shares failed to pay the allotment money, first call and second and final call money and his shares were 
forfeited.  Give journal for forfeited only. 

21. $l;lhspfs; Nrh;g;gpw;Fk;> $l;lhsp tpyfy; / ,wg;gpw;Fk; cs;s NtWghLfs; VNjDk; 3 jUf.  

State any three differences between admission of a partner and Retirement / Death of a partner. 

22. $l;lhz;ik mbg;gilapy; elj;jg;gLk; xU tzpfj;jpd; tptuq;fs; gpd;tUkhW 

 m)    <l;ba ,yhgq;fs;   2015  -  &.80,000  2016 -  &.1,50,000  

2017  -  &.1,00,000   2018  -  &. 2,70,000  

2019   -   &.2,00,000 

           M) gad;gLj;jg;ggl;l Kjy; 5,00,000 

       ,) rhjhuz ,yhgk; 20% 

1)  ruhrhp ,yhgj;jpy; 3 Mz;Lfs; nfhs;Kjy; vd;w mbg;gilapy; ew;ngah; fzf;fplTk; 

2) cah; ,yhgj;jpy; 3 Mz;Lfs; nfhs;Kjy; vd;w mbg;gilapYk; ew;ngah; fzf;fplTk;. 

The following information relates to a partnership firm:- 

a) Profits for the last five years 
2015   - Rs.80,000  2016 -  Rs.1,50,000  
2017  -  Rs.1,00,000              2018   -  Rs.2,70,000              
2019   -   Rs.2,00,000 

 b)  Average Capital employed is 5,00,000 

 c)  Rate of normal profit 20% 

 d)  Calculate the value of good will, dased on  

                        1. Three years Purchase of Average profits. 

 2. Three years purchase of super profits. 

23. fPNo nfhLf;fg;gl;l jfty;fspypUe;J ghz;bad; tpisahl;L kd;wj;jpd; 2019 brk;gh; 31k; ehNshL KbtilAk; 

Mz;Lf;Fhpa ngWjy;fs; kw;Wk; nrYj;jy;fs; fzf;ifj; jahh; nra;aTk;:- 

 tptuk; tptuk; 

if nuhf;fk; 40>000 mr;Rf;fl;lzk; nrYj;jpaJ 25>000 

rk;gsk; 30>000 ghJfhg;Gg; ngl;lf thlif ngw;wJ 10>000 

Mas; cWg;gpdh; fl;lzk; 1>00>000 miwfyd; kPjhd Nja;khdk; 3000 

ngw Ntz;ba KjyPLfs; kPjhd 
tl;b 

2000 njhlh; tpisahl;Lg; Nghl;b tuTfs; 1>40>000 

re;jh ngw;wJ 1>50>000 njhlh; tpisahl;Lg; Nghl;b 
nryTfs; 

1>05>000 

thlif ngw;wJ 20>000 KjyPLfs; thq;fpaJ 2>50>000 

 

From the informations given below, prepare Receipts and Payments Account of Pandian Sports Club for the 
year ended 31st march 2019. 

Cash in hand (1 April 2018)   Rs. 40,000 
Salaries paid     Rs. 30,000 
Life membership fees received Rs.1,00,000 
Depreciation on furniture                    Rs.     3000  
Subscription received   Rs.1,50,000 
Rent received    Rs.    20,000 
Printing Charges   Rs.  25,000 



Accrued interest on investment         Rs.      2000  
Lockers rent received   Rs.  10,000 
Tournament receipts    Rs.1,40,000 
Tournament Expenses  Rs.1,05,000 
Investment purchased  Rs. 2,50,000 

 24. X, Y kw;Wk; Z %tUk; $l;lhspfs; ,jpy; X  me;j Mz;by; vLj;jJ &.12000. Y xt;nthU 2 khjj; 

njhlf;fj;jpYk; &. 1000 tPjk; vLj;Jf; nfhz;lhh;.  Z Xt;nthU 4 khj ,WjpapYk; &. 1000 tPjk; vLj;Jf; 

nfhz;lhh;.  fzf;fplg;gl Ntz;ba vLg;Gfs; kPjhd tl;b 10% %thpd; vLg;G kPjhd tl;bia ruhrupf; 

fhyKiwapy; fzf;fpLf. 

X,Y and Z partners X draws Rs.12,000 during the year.  Y draws Rs.1,000 P.M. at the beginning of once in 2 
months.  Z draws Rs.1,000 P.M. at the end of  once in 4 months.  Interest on drawing is chargeable @10% P.a. 
Calculate interest on drawings of X,Y,Z using average period method. 

gFjp - < PART – D 

midj;J  tpdhf;fSf;Fk;; tpilasp         3X5 =15 

25. m) ghkh> Nkhp kw;Wk; Ngfk; vd;w $l;lhspfs; 3:2:1  vDk; tpfpjj;jpy; ,yhgel;lk; gfph;e;J te;jdh;.  2019 Vg;uy; 

1k; ehsd;W Ngfk; $l;lhz;ikapypUe;J tpyfpdhh;.  gpd;tUk; rhpf;fl;Ljy;fs; nra;ag;gl Ntz;Lk;.  

 1)  epyk; kW kjpg;gPL nra;jJ &.50>000 (Ke;ija 31 khh;r; 2019 ,Ug;Gepiyf;Fwpg;gpd; gb  epyj;jpd; kjpg;G 

(&.38>000) 

2)  miwfyd; kjpg;ig &. 8>500 Fiwg;gJ 

3)  nfhLglhr; rk;gsj;jpw;fhf &. 6>500f;F xJf;F cUthf;Ff. Fwpg;Ngl;Lg;gjpTfs; je;J kWkjpg;gPl;Lf;  fzf;F 

jahhpf;fTk;. 

4)  gad;jPuhf; fhg;gPL VLfspy; gjpag;glhky; cs;sJ &. 1>000 (my;yJ) 

M)  FU vd;gth; Kiwahd fzf;NfLfisg; guhkhpg;gjpy;iy 2019 khh;r; 31k; ehNshL KbtilAk; Mz;Lf;Fhpa 

,yhgk; my;yJ el;lk; fz;lwpaTk;. 

tptuk; 31.03.2018(Rs.) 31.03.2019(Rs.) 
tq;fp ,Ug;G 14,000(t) 18,000 (g) 
if nuhf;fk; 800 1,500 
ruf;fpUg;G 12,000 16,000 
fldhspfs; 34,000 30,000 
nghwpj;njhFjp 80,000 80,000 
miwfyd; 40,000 40,000 
fldPe;Njhh; 60,000 72,000 

   FU jdJ nrhe;jg; gaDf;fhf &.40>000 vLj;Jf; nfhz;lhh;.  jd;Dila tpahghuj;ij tphpT 

gLj;Jtjw;fhf mth; &.16>000 $Ljy; Kjy; nfhz;L te;jhh;.  fldhspfs; kPJ 5 %kw;Wk; fldPe;Njhh; kPJ 2 
½%xJf;F cUthf;f Ntz;Lk;.  nghwpj; njhFjp kPJ 10% Nja;khdk; ePf;fg; gl Ntz;Lk;  

A) Bama, Mary and Begam are partners sharing profits and losses in the ratio of 3:2:1 Begam retires from 
partnership on 1April 2019.  The following adjustments are to be made:- 

i) The Current value of Land is Rs. 50,000 (asper Balance sheet as on 31 march 2019  land was 
Rs. 38,000). 

ii) Reduce the value of furniture by Rs, 8,500 
iii) A provision would also be made for outstanding salary for Rs.6,500.   
iv) Unexpired insurance is not recorded in the books of accounts worth Rs.1000. 

Give Journal and prepare revaluation account. 
   (or) 

b)  Guru does not keep proper books of accounts.  Find the profit (or) Loss made by him for the year ending 
31 march 2019. 

Particulars 31.03.2018 
(Rs.) 

31.03.2019 
(Rs.) 

Bank balances 14,000(cr) 18,000 (Dr) 



Cash In hand 800 1,500 
Stock 12,000 16,000 
Debtors 34,000 30,000 
Plant 80,000 80,000 
Furniture 40,000 40,000 
Creditors 60,000 72,000 

 Guru had withdrawn Rs. 40,000 for his personal use,  He had introduced Rs.16,000 as capital for 
expansion of his business.  A provision of 5% on debtors and         2 ½%on creditors is to be made.  Plant is 
to be depreciated at 10%. 

26) m) ghz;bad; kdkfpo; kd;wj;jpd; gpd;tUk; ngWjy;fs; kw;Wk; nrYj;jy;fs; fzf;fpypUe;J 2019> khh;r; 31Mk;  

KbtilAk; Mz;Lf;Fhpa tUtha; kw;Wk; nrytpdf; fzf;fpidj; jahhpf;fTk;. 

ngWjy;fs; Rs. nrYj;jy;fs; Rs. 
njhlf;f ,Ug;G 
if nuhf;fk; 

5,000 tpisahl;Lg; nghUl;fs; thq;fpaJ 10,000 

thlif ngw;wJ 10,000 vOJnghUSf;fhf nrYj;jpaJ 7,000 
KjyPLfs; tpw;wJ 8,000 fzpg;nghwp thq;fpaJ 25,000 
re;jh ngw;wJ 54,000 rk;gsk;  20,000 
tq;fp fld; ngw;wJ 1,00,000 KjyPLfs; thq;fpaJ 100000 
  ,Wjp ,Ug;G 15,000 

1,77,000 1,77,000 
    fzpg;nghwp kPJ 10% Nja;khdk; ePf;fg;gl Ntz;Lk;   (myyJ) 

M) ̀ hp epWkk; &.10 kjpg;Gs;s 10>000 Neh;ikg; gq;Ffis ntspapl;lJ.  9>000 gq;Ffis thq;f nghJkf;fs; 

tpz;zg;gpj;jdh;.  ,af;Feh;fs; 9>000 gq;FfisAk; xJf;fPL nra;J mjw;fhd njhifiaAk; ngw;Wf; nfhz;ldh;.  

,ij tpz;zgj;Jld; &.45>000 xJf;fPl;Lld; &.27>000 ngw;wdh;.  kPjpj; njhif Kjy; kw;Wk; ,Wjp miog;Gld; 

ngwg;gl;lJ.  Njitahd Fwpg;Ngl;Lg; gjpTfis juTk;. 

A) From the following Receipts and payment account of pandiancrickert club, prepare Income and 
expenditure Account for the year ended 31.03.2019 
Receipts Rs. Payments Rs. 
To Opening Cash  Balance 5,000 By sports materials purchased 10,000 
To Rent Received 10,000 By stationery paid 7,000 
To Sale of investment 8,000 By computer purchased  25,000 
To subscription received 54,000 By salaries 20,000 
To Bank loan received 1,00,000 By Purchase of Investment 

By closing Cash balance    
100000 
15000` 

 1,77,000  1,77,000 
 Provide 10% depreciation on computer. (or) 

b) Hari Ltd. issued 10,000 equity shares at Rs.10 per shares.  The public subscribed 9,000 shares.  The 
directors allotted all the 9,000 shares and duly received the money with application Rs.45,000 allotment 
Rs.27,000 and remaining amount received with first and final call respectively. Pass the necessary 
Journal entries. 

27) m) gpd;tUk; tptuq;fisf; nfhz;L rhe;jp tiuaW epWkj;jpd; Nghf;F rjtPjq;fisf; fzf;fplTk;. 

tptuk; Rs. In lakshs 
2015-16 2016 -17 2017 – 18 

tpw;gid %yk; ngw;w tUtha; 150 135 90 
,ju tUkhdk; 25 5 15 
nryTfs; 125 75 50 
tUkhd thp 40% 40% 40% 

         

(my;yJ) 

 



 

M) At= epWkj;jpd; gpd;tUk; tpahghu eltbf;iffspypUe;J  

1) nkhj;j ,yhg tpfpjk;   2)  epfu ,yhg tpfpjk;  

3)  ,af;f ,yhg tpfpjk;  4)  ,af;f mlf;f tpiy tpfpjk; fzf;fplTk;. 

tptuk; Rs. 
I. tpw;gidapypUe;J ngw;w tUtha; 4,00,000 
II.  ,ju tUkhdk;: 

KjyPLfspypUe;J ngw;w tUkhdk; 
 

4,000 
III. nkhj;j tUtha; (I +II) 4,04,000 
IV. nryTfs; 

nfhs;Kjy; nra;j ruf;Ffs; 
ruf;fpUg;G khw;wk; 

epjprhh; nryTfs; 
,ju nryTfs; (epu;thfk; kw;Wk; tpw;gid)  

 
2,10,000 

30,000 
24,000 
60,000 

nkhj;j nryTfs; 3,24,000 
    V , thpf;F Kd;dh; cs;s ,yhgk; (III – IV) 80000 

A) From the following particulars of shanthi ltd., Calculate trend percentages. 
Particulars Rs. In lakshs 

2015-16 2016 -17 2017 – 18 
Revenue from operations 150 135 90 
Other income 25 5 15 
Expenses 125 75 50 
Income tax 40% 40% 40% 

(or) 

 b) From the following trading activities of yuvashree Ltd., Calculate  

 1) Gross profit Ratio  2) Net profit Ratio 3)  Operating cost Ratio 4)  Operating profit Ratio 

Statement of profit and loss:- 

Particulars Rs. 
I.  Revenue From operation  4,00,000 
II. Other Income: 

Income from investments 
4,000 

III. Total Revenues (I +II) 4,04,000 
IV. Expenses:- 

Purchases 
Changes in inventories 
Financial Charges  
Other expenses (Administration and selling) 

 
2,10,000 

30,000 
24,000 
60,000 

Total Expenses 3,24,000 
    V ,  Profit before Tax (III – IV) 80000 

 


